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Wi S ST, PV

@) 3T THE-sFHIH TSR A ﬂaa;m
7 fararar aieRT formE. R el

(B) IS THYRAH FE e sautma fafire ot swfrrade gatwm o g w e

@) (31) 1 TYfEdE T YIS 4 AT SO YEiaet A ©@i 1, 2, 3 ST 4 o wAiE oS oTRE. ™

IRAAHAL ITGHAIF TG FHET O HAEd TR R STt 6 SUGeT TS aT! hiessit =T,
TERTAT e hedT YIS Ko arad, Uf-ae ar e o ame A,

(%) I v famamandt wet ava 3t wrean fafia e st el W9 WSt SRa
AT T,

(5) HE WA THMH V1 e, ATE 99 WA I O BIVTR T8 AT SIS e foaern
M W9 g, A TE HiSfan e 3T 9 FHIUT AT AT A% 7 AT Tl i 1s

(6) IR TehaT TR FoKS S Eredl AR \&r I WA TR I T § T o .

(7) WA Tt IR o Yol s SHEANT=AT IAUTAh At aa Satiare TuT fees sdtes
TS AR FRIfTes sgaai YT feoear o SHAitsh wald 9 SR St
T A . X

r \> arehi= 1
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HIVTATE SHFE G, d8a UAg w0 T I[N 3T AT Fell HIOTAT SHFATE I
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TN FEraT=n nfttr/féar $uR U TR i Jere e ur ige
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T[T HGT qH FHIOM SR AT HHAHG ST, TOa THgear THaganiag gt aer
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1. WS dfreTs Ysam SEe Tl W 2.

(a) TNFF F= HS A,
(b) TN BT YSIH TLEATE.
(c) vRfE fama F g™ 13d FAw.

it o Fav/ R s SR TR ?
1) (2) T ) (a) 37 (b) F
(3)  (b) 3N () w 4) (), (b) 3R ()

Small-scale industries are significant due to the following features :
{a) Use local raw material.

(b) Engage local manpower.

(c) Helps in reducing regional disparities. . Q
Which of the statement/s given above is / are comrect 7 5 O

(1) (a) only

(3) (b} and (c) only )a@and (c)

2. wrﬁmwwaﬁ#fwmmﬁ*m?@@%@wﬁaﬁﬂmqﬁwmw%@
HA HS IR, \l_

(a) FET AR (o, (b) FaTE AR

(c) difge Hudt 3o6 Q (d) TRT widar iy TEwr

FUTH! HIvET faum 3TTed ?

(1) (o) 37 (b) (2) (a) 3 (c) (3) (@), (b) W) (@) (b), () M)
WTO is set up and designed to play the role of watchdog in the spheres of the following

matters :
{a) Trade in goods ~ (b} Trade in services
(c) Intellectual property rights (d) International peace and co-operation

Which of the above statements are correct ?

(1)  (a) and (b) (2) (a)and (0) (3) (@ B)and () (4) (b) ()and(d)

HoAl HHEIS WRT /SPACE FOR ROUGH WORK P.T.O
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3. et foaum foumme =

(a) WG SEd gfawn fadita see qafehd =t Tea1 2006 923 9.

(b) W rETd Glaw fasdita syt g1 Ta giaui=n yEweare Aewe faagae

&N I,
(c) fedaw 2007 7& wrdta wrnya giawn v fawm st geam .
Tios! wvR/d faum/3 aa SR/ ?

(1) (a) 3TfoT (b) (2)  (b) 30for (o) (3) (a) 3T (o) (4) TR (b)
Consider the following statements :

(a) The India Infrastructure Finance Company Limited (IIFCL) was set up in 2006.
(b) IIFCL providing short term financing for infrastructure projects.

(c) The Indian Infrastructure Project Development fund was launched in December
2007.

Which of the statement/s given above is/are correct ? 0\)0

(1) (a) and (b) (2) (b) and (c) ) (@) 269t (4) Only (b)
S
4. WRAMIS HERR TaES gRN G faum
(2) TR UAHII NCIHIGH H [T SfigemE YRAHTE TEhN T@dsdl YA
(b) 1905 W& WeIHd: Wehr) Hele o e
©) mm&‘lﬁ&@?ﬁ@mww'-&aﬁ

FwiE wvR/ faam/a
(1) (a) 3o (c)

With reference to

/ e ?
Gt @) @FAMG) (@ T
erative movement in India consider the following statements :

{a) The Co-operative Movement in India started with the objective of giving short term
loans to the small farmer’s.

(b) The Co-operative Society Act was passed for the first time in 1905.

(c) The concept of ‘one village one society’ is the main objective of the Co-operative
Movement.

Which of the statement/s given above is/are correct ?
(1) (a) and (c) (2) (b) and (c) (3) (a) and (b) (4) None of these

HoAT HAMEE FAN /SPACE FOR ROUGH WORK
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5. 1999 <A1 TH.GT. T dfider freReier s e devid weie faum faema =0
(a) THa=® fariie daFHrE AU |el 12% vigas! ITRM €. |
(b) TSN FUE G TR T 50 BRAT A ¥ 1 B ToAda Twefadt.
(c) He THSUN SIS JARARIS! 120 T Ffar Squqr 37,
T HIvR/d a3 T 3T/ 3T ?
(1) (a) 30 (b) (2) (b) 3 () (3) ™ (0) 4) (a) 3fT ()

Consider the following statements regardmg small scale industries, based on S.P. Gupta
Committee (1999) recommendations.

(@) A capital subsidy of 12% for investment in technology in selected sectors.

(b) The limit of excise duty exemption raised from ¥ 50 lakh to one core rupees.

() At present only 120 items have been reserved for pro@ion by small scale sector.
L 4

Which of the statement/s given above is/are correc

() @and®) () (@)and() (s)b,iny © @ (@) and ©

6. mmmﬁm@wmmm#m?
(1) HEDH FE TAHET ( CAC')D.S
(2) ﬁfc—ﬁ'rmmﬂwmcc
G)
(4)

Which of the following co-operative bank function for long term credit in the rural
co-operative credit sector in the state ?

(1) Co-operative Agricultural Credit Society (CAC’s)

(2) District Co-operative Bank (DCC's)

(3) State Co-operative Agricultural and Rural Development Banks (SCARDB's)
(4) State Co-operative Bank (SCB's)

HeAT HES 9FT /SPACE FOR ROUGH WORK PT.O
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7. 19mmmm@ﬁ19lzmﬁqmmwm@mﬁaﬁmﬁm
FHROTE Bt 2
(a) I FHIEEIIRR e WY HERR] TEIT T 0T 41 Bl
(b) UAEEIAAIT T SR GEATH IO 1904 S FHIEI=E] hE=e? e,
it I

(1) (@ % (2) (b) ® (3) = (4) TOH! UHEl TR
Which of the following reasons were responsible for replacement of Co-operative Act of
1904 by Act of 1912 ?

(a) It permitted the formation of primary credit societies only.

(b) Except-credit societies other societies were left out of purview of 1904 Act.
Answer options :

(1) (a) only (2) (b) only (3) Both (4) None of the above

5. @mﬁmmﬁmmmm@ﬁaﬁ@@ﬂwmﬁaﬁm7

(1) e Yetyes dreEr (2) T

(3) AT FeEarfier el (4) WEtF BRI

Which of the following five year plan gave em idon heavy industries for industrial
development ?

(1)  First Five Year Plan Gb cond Five Year Plan

(3) Eleventh Five Year Plan . l Seventh Five Year Plan

-
9.  1960-61d 1990-91 A1 Hroatd T ST HISER ReTel Hafa Wl YR
SR e B ? A
(1) e tafa i
(2) THFE
(3) ik wEeRrd 3Mfor feshrer ween
(4) STEmE <
Which was one of the following is the largest trading partner of India during 1960-61 to
1990-91 ?
(1) Organisation of Petroleum Export Countries
(2) Eastern European Countries
(3) Organisation for economic co-operation and development
(4) Gulf-countries

el HIMTETES W /SPACE FOR ROUGH WORK
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10. GHEYH IR TaUF/ ST 3R/ ARa ?
(a) HiaWEE AR (IMF) o foawa Teard sefavard Wad .
(b) AT T (IMF) 9reg 9T=a1 faxiid €01 TR #3049Td 9ed &3,
it 34T :
(1) (a) B (2) (b)) " (3 = (4) TR
Which of the following statement/s is/are correct ?
(a) IMF promotes international monetary co-operation.
(b) IMF helps in framing monetary policy of member nations.

Answer options :
(1) (a)only (2) (b)only (3) both (4) neither

11. GoStH FIE YavdEEl fgama sfien e @i i fijemeet SRR Foen 20-wH
FRIFHET T Fa ?

(1)  Tfta i 2 TEEWE Q
() = e (4) Sl et
Which of the. foIlowing Prime Minister rgsh:uctured@;point programme announced by
late Smt. Indira Gandhi for poverty eradication ?
(1) Rajiv Gandhi (2) a Rao
(3) V.P. Singh X (’4\ Qone of the above
12, e it QRSN TeHi ﬁ@m =,
(a) V=l U A HEHR & U TnSeRie fIeR HEshi e AR,
(b) RS & Vet ST AT I A R Wi 3.
(©) 197499 U™ TEHEE! TN .

Foust wvR/@ fa TATT 3R/ A8 ?
1) (a) 3 (b) (2) (b) 3T (c) (3) (2 3 () (4) P (b)
Consider the following statements with reference to Agricultural Cooperative Marketing.

(a) The National Agricultural Co-operative Marketing Federation of India (NAFED} is
the apex co-operative organisation at the national level.

(b) NAFED promotes inter-state and export trade of farm produce.
{c) The National Co-operative Development Corporation was set up in 1974.
Which of the statement/s given above is/are correct ?

(1) (a) and (b} (2} (b) and (c) (3) (a)and () (4) only (b)

T AT AT /SPACE FOR ROUGH WORK PT.O
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13. TG UEF0 4 [Rosh! SV AT Hisds IRV FTd TR 2
(1) GHESA 9T fasht w1
) fd 9% 3 T°7 TR F9 5.
(3) oA g fasrt F.
(4) WIS T AR 9TEGIHEA Sal W,
Which of the following is not a way to raise capital of state cooperative banks ?
(1) By selling shares to members of society.
(2) By owing debt from RBI and state Govt. of India.

(3) By open market operations.

(4) By accepting deposits from members and non-members.

14. GEEYH PR faue/Ren s e 2 \Q
(a) wﬁmﬁ@wwmﬁww@a%%mm
(b) Wmﬁmﬂ,maﬁ%ﬂmﬁﬁnm%@uwﬁaﬁaﬁw.
(c) HEHR BFIRISN T Hled . \Q(OQ

it 3w 6
W @ &l"(z) (b) ®
(3) alods wd Q (4) TR T

*
Which one of the followg tatement/s is/are incorrect ?

(a) Co-operation j
goal.

involuntary association of people desiring to achieve common

(b) Co-operation means abandonment of competition in distribution and production
and elimination of middlemen.

{c) Co-operation broadens the base of democracy.

Answer options :

(1) () only (2) (b)only

(3) All the above (4) None of the above

oA IS ST /SPACE FOR ROUGH WORK
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15.

9 C10

ORI TS (27 Generation) e YURH Hevia @ete faum faamm =,

(a) T YfFha T FriTwmeT giaw giauma o/ e,

(b) WA & 9rF glau AW TER didie o

() T Uw &1 QUiqh FEifaa F0EH TEHR TS e

FdotE! R/ faym/3 | T/ 3Ted ?

(1) (a) 301 (b) (2)  (b) 3T ()

(3) (a) 30 () 4) ot wd TR

Consider the following statements regarding Second Generation Economic reforms.
(a) The role of Government convert from the ‘controller to the facilitator’.

(b) The Government commit to suitable reforms in the infrastructure sector.

() The Government commit to the full functional Panchayati Raj Institution.
Which of the statement/s given above is/are incorrect ?

(1) (a)and (b) (2) (b)and ()
(3) (a)and (c) (4) None of the above

16.

YRATE GrSa ST 1Y T4 SATH TIOoTh! HIvea SAm Hau 371R ?
1) e wfwa (2) < *
(3) AL MR (4)
With which of the following area the study of D ar and Rath in India is related ?
(1) Planning process (2) of poverty
(3) International trade 4 @ ustrial policy

17,

\Y
A YIS A qES R ﬁ?@%ﬂﬁ T faum foamma i
(a) A FRiH ¢ gas o 3R,
(b) vRdH FreE ¥ vifes 3.
(c) WY e ® 3.
Fhede! wod,/ @ fa 1R/ AR ?
(1) (@) = b) @) () 3 ()
@) (a) 3t () (4) o
Consider the following statements with respect to Indian Planning before 12t five year
plan :
(@) Indian planning is indicative economic planning.
(b) Indian planning is physical planning.
(c) Indian planning is social planning.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and ()
(3) (a) and (c) (4) All of the above

ool HIHTAIS! AT /SPACE FOR ROUGH WORK
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18.

10 A
weie faum faawd =0, |
(a) 2001-02 9&A SeEERIE a9l TUAT oA e

(b) A TOATER YA SYSAME! &A1 105.02 D@ ! 3T,

(c) 1 IUHAYR Figuiihd SYSUMH T&I TH T&I= 87% 3L,

FUBYH! HIE/ Faur/3 T 3T/ 31ea ?

(1) (a) 30 (b) (2) P (b) (3) () 3 () (4) ()
Consider the following statements :

(a) The Third Census of small scale industries done in 2001-02.

(b) According to this census there were 105.02 lakh SSI units in India.

{(c) According to this census the registered units were 87% of the total.

Which of the statement/s given above is/are incorrect ?

(1)  (a) and (b) (2) only (b) (3) () and () (4) orly (c)

19,

N
mﬁmwmwmwﬁwm@%m
1) Y% (2) HIEHE (3) a@n 4) e

Which one of the following is the finest natural ur in the east ?

20.

(1) Mumbai (2) Kolkata Q Cochin (4) Kandla

Tere faum faemmd =, \Q

(@) 1991 W& mﬁ%ﬁmﬁﬂ%w TR SAfeleh MU= e FeA.
(b) T e feerlior & Tefua 3T,

(c) TEIHS: YURON a7 e fud 3T

Fwte! Hvw /<t fa e 3TTg/ 3ed ?

1) (a) 3 (b) (2) (b) 3T () (3) (a) (T (c) (4) T (a)
Consider the following statements :

(a) The Economic reforms was initiated in India by the Government of Atal Bihari
Vajpayee in 1991.

(b} Macro economic stabilisation deals with demand management.
(c)  Structural reforms deal with supply side management.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2)  (b)and () ) (a)and () (4)  only (a)

Hoedl HATERE AT /SPACE FOR ROUGH WORK
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21. Sfdes SRR 9REE (WTO) Feft T1a 7k ?

(1) 19HaRi 1995 (2) 1 9Fart 1994 (3) 30 fedmw 1994 (4) 30 fed=R 1995
On which date World Trade Organisation (WTO) was established ?
(1) 1 Jan. 1995 2) 1 Jan. 1994 (3) 30 Dec. 1994  (4) 30 Dec. 1995

22, SESEUMIER SfAhum=aT SO SRom ey Eee faur faerm =
(a) SFATERN SEIEANAL 1991 TR TH= FW g FOIH LA Fol,
(b) TSN TEULE HITATERIR T8l FUITH TEH R,
(c) TSI PR T TRETT 1991 FR T T R

Flrota TR faum stET e ?

1) (a) B 2) (b) ®H @) @©W%R @) S T
With respect to the impact of globalization on small-scale industries, consider the following
statements.

(a) Many of the small-scale industries started closing thék ctivities since 1991.

(b) Small-scale industries are strong enough to fag mpetxhon with multi-national
corporation.

(c) Governments protection to small-scale ir@ies continues even after 1991.
Which of the above statements is correct ? g

(1) (a) only (2) (b) only c)only (4) None of the above
‘JQ
23, =g Fafor &= edmeen= AW IR e 3T Fe 9
(1) FAEEEE yeeaEt T 5 IRt A9et TG 10 FIEUL STRA THO I,
(2) dAEIREE ) T 10 It 5qHT STHOUIRT I,
(3) ST T T 15 IS Tah! SO S,
(4) FFERpiEE AU 5 HIIILT FHHT WA 2 FIRIGHT SR SR I,

Medium enterprises under manufacturing sector has defined as :

(1) The enterprise having investment in plant and machinery is more than five Cr. but
doesn’t exceed ten Cr. rupees,

(2) The enterprise having investment of ¥ 10 Cr, including plant and machinery.
(3) The enterprise having investment in plant and machinery of ¥ 15 Cr.

(4) The enterprise having investment in plant and machinery less than 5 Cr. but more
than 2 Cr. of rupees.

oAl HTHATATS AR /SPACE FOR ROUGH WORK PT.O
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24. e Geror=H IRum devwia aete faum faama =

(@) 1992-93 a1 2000-01 & nfdfw gig=n anfdfe Tt 2T 6.3% 2.

(b) RN FRIHAT ST HH HOAW FHI TRRIHE IROMT F,

() WIER T fofa aemods YuRomies WH aau@wariE AEfavard e,

FAUF! HIVR /T Tau= /3 S0 AR/ 210 ?
(1) (a) for (b) 2)  (b) T (c)
(3) (a) # () (4) =ioud

Consider the following statements regarding the impact of Economic reforms :
(a) Between 1992-93 and 2000-01 the economy grew at an annual average rate of 6.3%.
{(b) The reform programme on poverty reduction was l@}&ﬁve.

(c) India’s improved foreign exchange managemen@&tored the confidence of foreign
investors.

Which of the statement/s given above is/ ara Qect ?

(1) (@) and (b) (b) and (0)
3) (a) and (¢ {&(4) Al of the above
S
25. WRAGIH! FHIEI HeH TRETE GIASYRT T A 2
(1) wufEs (2) SR (ASHA)
(3) wHfEs R & (4) TESHE TR TS
Which of the following is not a part of Rural Health infrastructure ?
(1)  Primary Health Centres (2) ASHA
(3) Community Health Centre (4) Government Civil Hospitals

FHoAT HIHHG AR /SPACE FOR ROUGH WORK
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26, SERIHTN= W@ Frewisrad Sretets Sivr faum,/ faum adat smd ?
(a) TS TSUD T I
(b) ST HF YaR {0 Bge S8 smaEwe frafoy #ol.
(c) TR o wearg Fiv 28 o1 Saraer frfor sho.
(d) emieia @rerft S aEe.

rq o e

1) (@) (b) 3 () @ (b), (0 AT (d)

(3) (@) (©) 31 (d) @ (b), (d) 3 (a)

Which of the statement/statements are correct regarding main parameters of
Globalisation ?

(a) Removing trade barriers.

(b) Creation of environment in which free flow of capital can take place.
{c) Creation of environment permitting free flow of technology.

(d) To increase domestic private industry.

Choose correct options : : ’\Q
(1) (a), (b) and (c) @ ®)(© a)
(3) (a) (¢) and (d) 4) (b) (@gnd (a)

27. WWW@WMW‘@!WW
(a) HT AR HAA. \0(0
®) et d% sifte i, S
(c) SirEirie famrra HaTe. \l"

(d) fodd HaTe

T Frow/ Y T Qﬂ/awr%a ?

1) (a) 3701 (b) (2) (o) emfor(d)

(3) (a) 37foT (d @) Tl wd

The following agencies are controlling the activities of Multinational Corporation in IndJa
(a) The Ministry of Company Affairs.

(b) The Reserve Bank of India.

(c) The Ministry of Industrial Development.

(d) The Ministry of Finance.

Which of the option/s given above is/are correct ?

(1) (2) and (b) | (2) (c) and (d)

(3) (a)and (d) (4) All of the above

wHoAT HIWATS T /SPACE FOR ROUGH WORK PT.O
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28. WU HN faum/faum atET e/ mRa ?
(a) SfdapiFT WIS, SREe &S S99 i sTameaie Saa quidd Higa

T T R,
(b) TR TR e T T R e S

watet e

1) () T @) () @) (4) T

Which of the following statement/s is/are correct ?
(a) Globalisation presupposes complete removal of licences, quotas and tariffs.
(b) Globalisation means political integration of the world.

Answer options :

1) (a) only @) (b)only Both \Q (4) Neither

&
29. ‘@i’ mﬂm@ﬁ?ﬁ?ﬁm@?ﬂ?mﬁ@g’ﬁwmmﬁww7

(a) IO g fawadh ST @nm YRR

(c) FHEiHS STEH tﬁlﬂwm EXIRRIEE]

Tt 9 vafg faer \&

M) (@), () 0 (d) Q o @osma

3)  (a), (b) 3 () @) (b), () =fur(d)

Which three measusigare considered on priority basis in the concept ‘privatisation’ ?

(@) Ownership measures (b) Organizational measures

() Operational measures (d) Liberalisational measures

Select correct options : ,
(1) {a), (b) and (d) (2) (a). (c) and (d)
(3) (a), (b) and () (4) (b), (c) and (d)

FroelT SIATETS WA /SPACE FOR ROUGH WORK
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30. GIOBUH! HIE/A HIFH A RIS IT9aw Teifadl/ geifaan ?
(1) W& T FHIoarq qam B ISR Giavam A9Ew
(2) T QUROIE FEFRE] B0 G
(3) e st AR JEuam A9
(4) IO wd
Which of the following indicate/s failure of planning in India ?
(1) Failure to provide employment to all able bodied people
(2) Failure to implement land reforms

(3) Failure to check the growth of black money
(4) All the above

31. TR 91960 WOy I fauE @ ?
(1) = A et S S 33% ot Hfeer ST Sava® TR
(2) OGN 99 € S s M Uk AR GRaREd <@al &
(3) ﬁmmmmmmwmmwmﬁ
(4) ¥ DS AR YHH (labour intensive) T Y. S
@IGNREGS?

Which of the following statements is not true in case

(1) At least 33% beneficiaries of the scheme h be women.
(2) Wage disbursement to happen through and post office accounts. '
(3) It seeks to provide at least 100 days e employment to all adult members of

rural households

(4) It emphasis on labour intensiy\@q.
&\

32, WO fquM faarm =0 @
(a) suf¥iE NG gfaw ferror ygdlte e saam.
(o) ErIfSR T WiRdT SREA PTEA A,
(c) Tk ygdr & aufor wrfer arang g 2 et gatuw Teet sm.
FUGHH FIoR/d faur/ awER TR,/ e ?
1) GFE @ @FAE) P FEEQ (@) e
Consider the following statements :
(a) Economic infrastructure is located within system of production and distribution.
(b) Social infrastructure contributes to the production process from outside the system.
(¢} Communication system is treated as both social and economic infrastructure.

Which of the statement/s given above is/are correct ?
(1) (b) and {c) (2) {(a)and (b) (3) only(c) (4) Al of the above

FHoAT HIATAS! F0T /SPACE FOR ROUGH WORK PT.O
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33. W fayr faurm =
(a) TR RE 1991 HEd =ehad! A= Feaemare! fada sraeen afgd T Hdl,
(b) HSIIE! SMHR T 9gat 1 3, 2010 Ted TR HeA.
() SR T TG & A1 FHeld AL ST Fd T4 HAGE o .
TSR FIw/ <t faum/3 e R/ 3 ?
(1) W (b) (2) T (a) (3)  (a) 3 (c) (4)  (b) 3 (c)

Consider the following statements.

(a) The Government appointed a committee on the financial system under the
Chairmanship of Chakravarty in August 1991.

(b) The base rate system of interest rate has been introduced with effect from
July 1, 2010.

(c) The base rate system is applicable to all new loans and to the old loans that come up
for renewal.

Which of the statement/s given above is/are incorrect ? ,

(1) only (b) (2) only (a) (3) a)(a% (4) (b)and (c)
34, GWEwe faur faemm @i Q

(a) Hegatdd : & mmﬁuwﬁam@m

w)memmﬁﬁmw@@ T

(c) Iea aftfa reT o1 BrerToAT Uit ST G Frarita JHR (91%)

G Q

FhedF! FvR/ @ faur/3 / 3T ?

(1) (a) ST (b) ‘ (2) (b) 30 (Q)

() (a) 30 (o) (4) = wd

Consider the followsng statements :

(a) The Value Added Tax (VAT) is multi-point tax collection method.

(b) Non VAT is single point tax collection method.

() Implementation of VAT will improve the purchasing capacity and living standard

of the poor people.
Which of the statement/s given above is/are correct ?
(1) () and (v) ‘ (2) (b)and ()
(3) (a)and (c) (4) All of the above

HoAl HWEE AT /SPACE FOR ROUGH WORK
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35. TR = i B GOl FIven AT T 79T FTE 2
(1) SRS STHA (2) < e AW
(3) IS SRR (4) O gIX
Gini’s co-efficient is a measure of which of the following social evils ?
(1) Inequalities in income (2) Poverty gap in a country
(3) Unemployment in a country (4) Infant mortality
36. 2016 7Y A figrd doho T TR TR W WAl SHAEeEe SIoed Shd W
%19 B ?
(1) WETE ST AVTAEE! 39 a0
(2) N Ty FER fawfad Ho
(3) UEHSI-URd HGH-YEH FHS HO
(4) @IS HAE A <0 | .
What was the mandate of the committee established n}br H.R. Khan - the deputy
governor of RBI - in 2016 ? &%
(1) To suggest measures to control inflation @
(2) Development of corporate bond market %Q
(3) To introduce cashless methods of pa
(4) To boost private borrowings
o«
37. WA@Y HIVE FEAT HERTEE ool virgH ve Sefde gga Fain wvameEt

ST 1 7 Q‘b‘

(1) WS = 9T e

(2) VoER fomn
(3) S ur
(4) =ots T4

Which of the following schemes aims at creation of sustainable irrigation facilities in
Maharashtra by way of absorption of rain water ?

(1) Magel tyala ‘shet tale’ yojana

(2) Jalayukta Shivar Yojana

(3) Western Ghat Development Programme
(4) All of the above

AT HIWEE AT /SPACE FOR ROUGH WORK
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38. @S faym fasmm =0
(a) 2009-10 WA TERTCTN Ha1 SAKdS faeh T 9.6% &l
(b)  2010-11 HEA WERTS (AT TS SIS aT &= AT 61% 2.
(0)  2012-13 Wed TR WS T IATGAIT SYahM &=l ael 22% Bl
TSR] FO /A faumE/A TUE SR/ AR ?
1) (a) s (c) (2) (a) 30f0 (b) (3)  (b) 3 (c) (4) WK (0
Consider the following statements :

(a) In 2009-10, the growth rate of Service Sector in Maharashtra was 9.6%.

(b) In 2010-11 the share of Service Sector was 61% in Maharashtra State Gross Domestic
Product.

() In2012-13 the share of Construction Sector was 22% in the Maharashtra State Gross
Domestic Product.

Which of the statement/s given above is /are correct ?

(1) (@) and (o) (2) (a) and (b) (3) (b) and (c) (4) only (c)

39. STy fad AEHEs (IFC) HTE S T F 2 \Q
(1) S &sren famramet Taeves, arfest anfir :

(2) TS ST FORASL <
(@) Ha1 gErE foe 9 SEET. (OQ
(4) T FEgiayTEn foe 9 e
International Finance Corporation (IFC) in which of the following area ?
(1) Investment, guidance and asset ement for the development of private sector.
(2) Credit supply to central ban’%
(3) Development and manage of services sector.
(4) Development and man nt of infrastructural facilities,
A\
40. =1 Hefyud 9ry fa 1

(1) o= T8 TEHFL TR
(2) o T 9 F T AN F A
(3) HUT T GH ATAY FL e
(4) IARA I T WAH FI A
Select the right statement regarding taxes :
(1) Income tax is not direct tax
2) Goods and service taxes are indirect taxes

(
(3) Property taxes are also indirect taxes
(4) Product taxes are direct taxes

TS HUTEES AR /SPACE FOR ROUGH WORK
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41. TEASUH A EE g ATFEEF GhR GIE 9T AT ?
(1) = TGS IAH
) TR IRNEIE T
3) Seforn ailes @<
(4) A FEEEdS T
Which of the following is not a part of non-development public expenditure ?
{1) Tax collection charges
(2) Expenditure on military equipments
(3) Expenditure on educational services
(4) Expenditure on interest payment
42, WATE TIHEAA HoW 280 THR T Foedl WRATg ford dmet Ereiets! S sifiswsr
T ?
(1) = IR g AN [T FEHUAY T2 S0 (\
(2) T WEH IIEH SvFEESAl go1 w0l 6§
(3) Hfgg AR TR F@ Q\
(4) fren faameh Hed ga s
Which of the following duties is not entrusQ Finance Commission of India under
article 280 of Indian Constitution ?
(1) Distribution of tax proceeds be entre and States
(2) Recommendations on goverm'% grants in aid to state governments
(3) Preparation of Union Buc}ﬁ
(4) Recommendations on ﬁ tter related of sound finance
A *
43, WASHF! HR FE w1 A ?
(1) T I HIER
(2) wafafdEn e
(3) UTIEUE
4) T FEIER0

Which of the following is not a contingent function of money ?
(1) Basis of distribution of National Income

(2) Basis of Credit Creation

(3) Store of Value

{4) Transfer of Value

Foedl HIWEIS AT /SPACE FOR ROUGH WORK
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44. ryren A fagiaret ST e wotetwT e sddewr 99 fawfag we
(1) aTEkE Tve 2) . fe
(3) sfxs femE @) SH €A

Cambridge version of quantity theory of money was first developed by which of the
following economists ?

{1) Alfred Marshall {2) L Fischer
(3) David Ricardo (4) Jean Bodin

45, mﬁﬁmwawmm T ST 2

(1) wigss frafg fed (2) &S
(3) sTRfa (4) TG Q
Which of the following is not a part of debt obligatio Gjhe state government ?
(1) Provident Fund Exte ebt
' (3) Contingency Fund 4) & Fund

46. THIW FaWTIRT Seegd 49 SEoen 9 ﬂ@waﬁvm?
(1) EI=esh SsrT (O’S\
(2) I W SSR Q
(3) =BHA A HEH I
(4) =HET ERERI
Which types of unemployment are/is mainly found in rural areas ?
1
(2) Low quality unemployment
)
)

Structural unemployment

3

_—

Disguised and seasonal unemployment

(4) Cyclical and educated unemployment

FHoed] TIHES AT /SPACE FOR ROUGH WORK
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47. Gt fqum faem =
(a) IR WA TG SOGATE 2009-10 A1 W JeWT &==0 12T 30.9% Bl
(b) HEUE 9 SHIUN [T AEHSEEl TG 1962 HE e,
(c) 2010 T TR ToaM ¥ faugs € | #ec 7).
FUEF! HIOE/A faem/ S St TR/ 7R ?
(1) @&mrE) (2 @) () (3) (2 3 () 4) (o)
Consider the following statements

(a) The share of Industry Sector in Maharashtra state gross domestic product was 30.9%
in 2009-10.

(b) Maharashtra small scale Industrial Development Corporation was established in
1962.

(¢) In 2010, Government of Maharashtra scraped the %}Johcy.

Which of the statement/s given above is/are correct@

(1) (a) and (b) (2) (b)and (9 & ) and (q) (4) only ()

1) kI fawn

(2) TR TE TE wO Q

(3) =N W qed
(4) =15 T HHI A

To control inflation, through open market operations, which of the following steps will be
taken by the central bank of a country ?

Y
48. ‘WWW'WWH@W@HM%W@WWWW?
Q
(%

(1)  Selling of government securities
{2) Buying of government securities
(3) Increase in interest rate of commercial bank borrowings

(4) Reduction in interest rate of commercial bank borrowings

el THIATEST W /SPACE FOR ROUGH WORK PTO
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49, YRGS YA S WO fauEide] S faum ste T ?

(1) e fde da s wied onfo 9o el awfae o - ¥ & Taie T
RN & TR,

(2) WIREATSA T Iq=HY Je &= el Hiedl AU 9ieal 3.
(3) Huh HaET HAN THW N MY A AeH o o,
(4) FE1 &= TR WSS 912 gy Hie 37k,

Which of the following statements is not true as far as service sector of India is
concerned ?

(1) Business services including IT sector has been the fastest growing sector.
(2) Share of services in India’s GDP has substantially increased.

(3) Communication services have made a significant contribution to service sector

growth. . \Q

(4) Share of service sector in total employment is very @f
Q

\4
50. G faum faare = @Q
() e R ¥ i 2t st %ﬂmﬁﬁmmﬁ.
(b) AN FRRRGT I= w1 Sl ¥ .
(©) ﬁmﬁsﬂaﬁwﬁaﬂm@%ﬂwwﬁmﬁmwaﬁ
Fltou®! Fiow /d fqumE/A /amed ?
(1) (b) 3 (c)
Consider the follo

(3) (a) S (b) (4) T (o)
statements :

(a) Reserve Bank of India and Government are producers of the high-powered money.
(b) The amount of high-powered money is fixed by commercial banks

(¢) Theory of determination of money supply is based on the supply and demand for
high-powered money.

Which of the statement/s given above is/are incorrect ?

(1) (b} and (c) (2) only (b) (3) (a) and (b) (4) only (c)

HoAT HHES I /SPACE FOR ROUGH WORK
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51. IERIHLU, GISFIeRTul S0 SFTTl fauas unon—a fmio sese Stsrm=n g9
FTBN YIRS 1991 T WG| FewE AfHd St 2
(1) e fgee we (2) Ul wied S
() THIEH WREE Be (4) Hrvre ForgfE FaRem
Which of the following was established to take care of unemployment arising out of
liberalisation, Privatisation and Globalisation reforms after 1991 ?

(1) National Renewal Fund (2) Exit Policy Commission
(3) Employer’'s Provident Fund (4) Social Security Corporation

52. HFE faFE 3REe - 1995 Y fon vl ofmr € wan fasfaa woaw o & |
WO g giad ?
(1) TomE sngam sfus o F1 2
2) Torai=n merd= st ISP <X oifree TR %1 ?
(3) T & feaien s omg % ?
(4) T o anfor TorRTa AT TR TR S IR SR w1 2

Human Development Report - 1995 launched the co@zpt of Gender Empowerment
Measure (GEM). It indicates :

(1) Whether life expectancy is high among wo
(2) Whether literacy and employment rate isfPig§ among women.

)
(3) Whether sex ratio is in favour of wom
)

(4) Whether women are able to acti\eéK cipate in economic and political life.
53, Wioe faym faawrm = §l~
(a) TLT Fuz 9 w0 200 TTtOT YRTETST T 28.60 TEE & feaams! oo wred
TRTEST T 22.40 SE1 TG T T N .
(b)  2009-10 Wh 29.8% V% WeE gy Wae ddt
(c) 2009-10 7 3 TR 3T 20.9% Wl SRS Sk TiEe W 2.,
T FoR/q /7 I IR/ A ?
(1) () AT (b) (2) T (a) (3) (b) 3 () (4) R (b)

Consider the following statements :

(a) According to NSS data for 2009-10 the poverty line was defined as T 28.60 per
capita per day in rural areas and ¥ 22.40 per capita per day in urban areas.

(b) 29.8% of the population was below the poverty line in 2009-10.

(c) 33.8% of the population in rural areas and 20.9 percent in urban areas was below
the poverty line in 2009-10.

Which of the statement/s given above is/are incorrect ?

(1) (a) and (b) (2) only (a) (3) (b) and (c) (4) only (b)

AT HIHFATS I /SPACE FOR ROUGH WORK PTO
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54. e Sifad a%q suftr S S R Afus YRR S0t 3w wHE0E S, ST 9l
I TRATT FHERS I T WISIGUen! 0T |l e 2
(1) TR <A IeEA (2) TRU UL A
@) Freae Juiaia oA (4) Fr=e v sarRa
Market value of final goods and services, in the country plus income earned by the Indians

from foreign countries, minus income earned by the foreigners in India is called as which
of the following concepts ?

(1) Gross Domestic Product (2) Gross National Product
(3) Net Domestic Product (4) Net National Product

55, wow aun faarm =
(a) IS U o o Faia Freae Yo gEt <uifan.
(b) A TG Tl HAA WIS I AT T,
(c) Hiea wifemst i s T Uiy S HIemT wet 3R Ugdl I S ageia

THIN SR FT L.
T @/ fTun TET e ?
(1) (a) 37 (c) @ () 3 (c) 6
®) (a) * b) @ TN
Consider the following statements :
(a) Product method estimates the net value ad goods and services.
(b) The Income Method is employed in esti g the GDP of service sector.
(c) A combination of product method a e method is used for national income

calculation by CSO.
Which of the statements given aboy% orrect ?

(1) (a) and (c) (b) and (c)
(3) (a) and (b) @, All of the above
56. TIHINY Sareeral nfi o T HeWid GTore faur faurm =
(a) = TEA AT SIRTSII=F SHIEUTT HIE] 2004 T3 TSR HaA.

(b) T FEEEER 09 Tq Hegel gt | e YITE A1 A1y

() W 2009 Wa s AW FEA= 3% T TSI g2 FH w01 ¥ ¥ e,

ot B/ @ faum/a T R/ e ?

(1) (@) AT (b) (2) (a) 30 (o) (3) (b) A (c) @ 7w

Consider the following statements regarding with FRBM Act.

(a) The Central government passed fiscial Responsibility and Budget Management Act
in 2004.

(b) According to this Act revenue deficit was to fall to zero by 2009 and

() Fiscial deficit to be reduced to 3% of GDP by March 2009

Which of the statement/s given above is/are correct ?
(1) (a) and (b) (2) (a) and (c) (3) (b)and (c) (4) allof theabove

THeeHT HAME 90T /SPACE FOR ROUGH WORK
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57. oo faum feararm =

(a) =AfFT A FE FAfRIF IACR STHREA L.

(b) eI YA WHRIAS Heh! Aevard 3eqe S 39T e 3.

(c) TEMSE FT F ARUIHd FUT U TEHiSes A1 ITTAR SHRA A,

SO RO/ faum/3 B SR/ 3Rd ?
1) (@), (o) ¥ (c) ) (a) Sufor (b)
(3) (a) 3l () (49) $E (o)

Consider the following statements :

(a) Personal income tax is levied on the income of individuals.

(b} Income tax has failed to play positive role in redistributing income.

{c) Corporation tax is levied on the income of registered\@npam'es and corporations.
Which of the statement/s given above is/are correct 7\ M

(1) (a), (&) and (9 ) (al&@)
(3) (a) and () 4)  of)
S,

58. @rﬁaﬂﬁmmﬁﬁﬁwwé}mrmmwﬁmmmm
Bt ? .
ey
(2)
(3)
(3 Fefgos feewm 4@ aiw sfeam

Which of the following was established in 1987 to deal with the problems of sick
mdustries ?

(1) Board for Industrial and Financial Reconstruction
(2) Board for Sick Industries Reconstruction

(3) Industrial Investment Bank of India

(4) Industrial Reconstruction Bank of India

HoAl HETEIS A /SPACE FOR ROUGH WORK P.T.O
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59. woe faym faerm =0,
(@) T WER e e Savars! JaeeR! SEi fod WA o,
(b) TEHEEATER S (AT AR He THRRHG Haes F Ieow 386 T I TR 8
TR WET fae SRR #9 3 I 7@
() TFATRATER T8 TR Wheg F St War .
FISIT! I/ d faUE/A He R/ 3Ted ?
(1) (a) ST (b) (2) (b) 30f () (3) () () 4) ®H ()
Consider the following statements :

(@) The Ministry of Finance at the centre has the responsibility to oversee the finance of
the State Governments.

(b) According to the Constitution the state governments cannot borrow from market
without the permission of the central government if the states have outstanding
debt with the centre.

(c) According to the constitution the states are permitted t&)rrow from abroad.
*

Which of the statement/s given above is/are incorrect

1) @and@® (2 Gad@© @ @&ad © @ only(

=
60. G faum fagarm =0 : (OQ
@ mwmwmm@a@w.
(b) &1 A 1977-78 T 1987-88 ?{%ﬁatﬂ el g 60.4% TET 36.7% Tdd FH H0AM

(<) ﬁw%ﬁﬁaﬁmwﬁaa@wmww
eyt o/t faum I/ 318 ?

1) (a) 3 (b) 2) (b) #() (3) (2 (o) (4) T (0)
Consider the following statements :

(a) Maharashtra Government introduced the employment guarantee scheme in
1972-73.

{(b) This scheme contributed to the decline of poverty from 60.4% in 1977-78 to 36.7% in
1987-88.

(c) EGS benefited a large number of males only.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and () (3) (a)and () (4) only (9

HoAT HIAEE ART /SPACE FOR ROUGH WORK
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61. G faum faama =,
(a) IMeNfiTer qramE GRaET SO AN 2014 AEY GE Fol.
(b)  FSHTIAT T TTHIT Jelvl, I FeSThell IS 2015 ALY FE FA.
() Fedsr 2012 A% WHRA TAHN HAS! HEIHF TTREST SR Hea,
TSt P/t faur/ I SR/ 3TRA ?
(1) (a) 37T (b) (2) " (a) (3) (b) WM (0) (4) (o)
Consider the following statements :
(a) Industrial infrastructure upgradation scheme was launched in 2014.
(b) f:us;?s;e iflo;oqgamotmg innovation, Rural indust&Qu‘ld entrepreneurship was
(c) The government introduced Institutional Cre@&vngandloom Sector in December
2012. (OQ
Which of the statement/s given above is/%'Qﬁcorrect ? |
M @ad® @ @S @ Bade @ oy @
N
62. wﬁ%ﬁammﬂﬁ@%ﬁx S TEvARETE], 2002 TS @ISR S0 HEE

*

I 1o ?
(1) wa 2) Ty HE
(3) ARG, FmEa (4) THIGUH! FUERT

Which of the following was passed in 2002 to prohibit abuse of dominant position in the
market ?

(1) FERA (2) Competition Act

(3) MRTP Act (4) None of the above

ol MM AT /SPACE FOR ROUGH WORK
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63. 1T, 1999 st wWolsddt T E-USHTR A1 SV A= ThTAFIA & A ?
(1) Ui T fawme FRiwH, TUFEE THEed D, T Fea1 deI, sfeu afge Qe
(2) WemiAw O faeTe FREEE, UM s g9, gEam, faen (SITRA), Tvew fafed
DI
(3) IS T fawm FrEwE, A, faa 9 sio fawm wEEd, e Afee dem

(4) weIfcHeR T e rdsn, SR TSR IS, STame I 99E] e, gem, duf
USTIR TSI,

On the 15t April, 1999, Swarnjayanti Gram Swarozgar Yojana was stared with the
consolidation of which of the schemes ?

(1) Integrated Rural Development Program, Pradhan Mantri. Gramodaya Yojana Village
Welfare Scheme, Indira Mahila Yojana.

(2) Integrated Rural Development Program, Village Welfare 5&31%, TRYSEM, SITRA,
(MWS) Million Wells Scheme. '\

(3) Integrated Rural Development Program, TRYSEM, \@;\ and Child Development
Program, Indira Mahila Yojana. @

(4) Integrated Rural Development Program, Ja@ Rozgar Yojana, Jawahar Gram
Samrudhi Yojana, TRYSEM, Full Employ heme.

N
64. mmﬁaﬁvﬁmwmwmwm@wwmmmmgw.

(a) U T FHA @S (b) FH-FaA g

() &F-faw w&dwa .Q @) foEm H2Ee wE g

Tt FvEr/d waig e/ 31ee ?

(1) () 3o (b) ) (b) 3o (d) (3) WK (o) 4) K (d)

According to Bhagwati Comunittee Report 1973 the Government took the following
measures to provide employment.

(a) Rural Works Programume (b) Agro-Service Centers
(c) Area-Development Scheme (d) Kisan Credit Card Scheme

Which of the option/s given above is/are incorrect ?

(1) (a) and (b) (2) (b)and (d) (3) only (c) (4) only (d)

FHoAT FHIHMETS JAT /SPACE FOR ROUGH WORK
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65. TG ¥ Ut Hedagd SRISATET HeahedaT fashdia Fivam 3Tet o ot wneies yamo-
(a) SR HE feerdt gt
(b) ST A1 SSaedrEr g
(c) SRrerTen =T e <=
(d) SUSETRT =g A &=t

FiSUs! I/ T JREYS TR/ Hed ?

(1) A (2) ) (a) 3 () (3) R (d) (4)  (b) ST (d)
National Sampal Survey organisation developed the concept of unemployment as
follows :

(a) The usual status unemployment

(b) The current weekly status unemployment

(c) The current daily status unemployment

(d) The current yearly status unemployment Q
Which of the option/s given above is/are incorrect ? S

(1) Only (@) (2)  (a) and () (4) (b)and (d)

'0’
66. WS fauR faawm =, @Q

(a) 3fen fmg 3 ToTHS TS fagid A
(b) mwmwvﬁi T Fl.

©) Sha dadmm =i gfe= STRALH SR 318 90 HS 3R,
T FIET faum a1

1) @90 2 B

@) @3() (4) ot wd

Consider the following statements :

(a) The theory of comparative costs is propound by Adam Smith.

(b) Reciprocal Demand Theory which explains the determination of terms of trade.
(c) Dennis Robertson described foreign trade as “An Engine of growth”.

Which of the statements given above are correct ?

(1) (a) and (b) (2 (b)and (©

(3) (a) and (c) (4) Al of the above

HoAT HIUES AT /SPACE FOR ROUGH WORK PT.O
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67. TISGUH] DIV TG HAH TRAHEY 2007-08 I HIAW SIS Wl Hot 2
(1) a3 qoe

() fadrlt 7 Fofem

(3) g fiER 7 97 9

(@) TTUHR R

Which of the following sources of irrigation in India has made spectacular progress in
2007-08 ?

(1) Canals and ponds (Tanks)

(2) Wells and Tube well

(3) Jalyukta Shivar and Farm lakes (Shet tale)

(4) None of the above

68. WOGUH! DIV IV TEAET HIAE TG I e ?
(1) =, W, geell, wolm 3 famg
(2) R, AL, WU, $OE 9 ST
(3) wieE, swEe, sifen, s 7 s siies \Q
(4) o o T N )
Which of the following are major home countries @u ti National Corporations ?
(1) China, Russia, ltaly, Malaysia and Singap

(2) France, Germany, Japan, UK. and US
(3) Mauritious, Brazil, Australia, New Z and South Africa

(4) None of these ‘ C:SQ
69. Wide favr Frsmoe =, .’&\
(a) THE @ IS TERl (foreR) Heon ane.
(b) it forgor =i 8 HEl FeL.
() A TR HEWH 1957 "l HS.
Fitetet v fa A ?
1) (a3 () @ ®3@©
(3) TR (a) @) slets ud

Consider the following statements :

(a) NAFED is the apex co-operative marketing organisation at the National level.
(b) Centre for Agriculture Marketing was established in 1988.

(c) Central warehousing corporation was setup in 1957.

Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and (¢

(3) only (a) {4) All of the above

Hoedl RIS AT /SPACE FOR ROUGH WORK
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70. SHN W TS IR WOGTR! RO TEAG THE HEgS WU SEEer! ST FEorr]
2t 2
1) R ved (2) TR 5
(3) wEwEd T5d (4) S I T

Which of the following describes a system of land revenue in which the responsibility of
paying land revenue was laying with the cultivator ?

(1) Zamindari System {2) Ryotwari System
(3) Mahalwari System (4) Contract Farming System
71. TEIHIGA ESTH (G0 TGAHE TAF TS FZAEE! fo.d. smur 3=
srefaeiiEm e gEe .
(1) 20 (2) 15 (3) 10 (4) 5

Under Targeted Public Distribution system, each poor family was entitled to
kg, of food grain at highly subsidised prices.

1) 20 @ 15 \Q 4 5
72. WIOGIH! HIUE Hehed Aleaisl mﬁﬁmwuﬁ@%ﬁ%ﬁﬂﬁm?
(1) wa fawm fdwis ﬁ%&'nm
(@) fEmvE TS 9 (4}&
opportunities rather than capabilities ?

Which of ‘the following focuses on wo
(1) Human Development Index §
(3) Gender Empowerment Me;(\k

Human Poverty Index
(4) Poverty Gap Index

73. S SR S e Qe s e el ) Wt P e
e ? :
(1) 3t =T werwT Tiese 2.
(2) e < (smyr) Frafi e,
(3) e frata stedwera wH F
(4) Ve SMYFER TET SieeTe <0,

Which of the following is not an objective of Agreement on Agriculture announced under
Uruguay Round of WTO ?

(1) Providing access to global markets for agricultural products.

(2)

(3) Reducing export subsidies to agriculture.
(4) Encouraging modern methods of farming.

Regulating domestic support to agriculture.

FoAT SIS ST /SPACE FOR ROUGH WORK P.T.O
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74, B WY@ I ST S wore faym foerme 0.
(a) 1990 7td i@ Y@ TWiETa I & Faheu fasfaa wwam oTe
(b) I HFET TG SHeAromeR TR FIOR gguor i wHt Fresen Yafis arve arpi

BTt Fobwre A ST e e S,
() |1 2000 TR =1 wed #Rd TS ST IRATS WHAHATT T hod.
Fh@H FIow forar,/ 3 sET oRa 2
1) @3@ 2 ®3IE 3) @3®) (4) AT TR

Consider the following statements about Green GDP.
(a) The concept of Green GDP evolved in 1990.

(b) It attempts to factor in the cost of depleted natural resources and pollution which
ultimately affect human welfare.

(c) China had started calculating its Green GDP from 20 Q

Which of the statement/s given above is/are correct ?

(1) (a) and (c) (2) (b) and () Q® (b) (4) None of these
75. W fAym fa=am . (b’

(a) 2005-06 A% YA UGEHRA TLA AR Yo He.

(b) 2005 T HERIE TY ORIV it sreaeht Trewe T .

() 201516 T @nﬂaﬁ fiEm 50 Foeam gefae.

aﬂaﬂaﬁ Hio/d faum/A /a ?

(1) % (a) (3) ®H () 4 @3

Consider the following statements :
(a) The National Horticulture mission has been launched by Govt. of India in 2005-06.
(b) Maharashtra State Horticulture and Medicinal Plant Board was established in 2005.

(c) From 2015-16, the Mission for Integrated Development of Horticulture is implement
in 50 district.

Which of the statement/s given above is/are incorrect ?

(1) only (a) (2) only (b) (3) only () 4) (a) and (b)
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76. @O faym fEEmd =m0,
(a) g fawm anfor gypeAT= S oSt W Usha wEHE 2014 T GE FO

(b) WHRATAA N =0 smoaerEvidE! 12 = AT 2000 FIE T SHEIARE WIS
Fo.

() T gy Ao | 2013 TE) T Hedl,

adoist SR/ faum/A g /a2

(1) (a) 37 (b) (2) W (b) (3) (a) 3 (0) (4) T (c)
Consider the following statements :

(a) National programme for Bovine Breeding and Dairy Development was launched in
2014.

(b) The budgetary provision of T 2000 crore has been provided for implementation of
NPBBDD during 12t plan.

(c) National Dairy plan was launched in March 2013. ‘\Q
Which of the statement/s given above is/are incorrect %’

(1) (a)and (b) (2) only (b) (3) é@}ﬂd (©) (4) only (c)
77. @ore faym faem =m0, Q( :

(a) WRATre YT & Higa FHIO T T 2.

(b) YRGS 7e4 Yo¥ € Wald ] TSN IR FOW T 3R,

() YNarI® TeNT € i%mm FR T R,

(d) wRawie 9" 9, & IART FOW T 3R,

It wivR /Rt faum), /A2

1) (@ Fb) 2 (@7 (3) % (b) (4) T (d)

Consider the following statements :

(a) Punjab is the major wheat producing state in India.

(by Madhya Pradesh is leading in production of pulses in India.
(c) Maharashtra is the principle producer state of cotton in India.
(d) West Bengal is the Major sugar-cane producing state in India.

Which of these statement/s is/are incorrect ?
(1) () and (b) (2} (c)and (d) (3) only (b) (4) only (d)

THoodl WH™TS AFT /SPACE FOR ROUGH WORK PT.O
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34 A

@i faur faamra =0

(a) OERUEN HHAY FFSAIR Uecdl T T 9 Yol SR 379l

(b) OFCET WHEAY FHGAHER TE1 SN SRHE aREl affes T 2.0% fhar @
R 3T

(c) TrepeeE dwAu fagiaar foo= saedd St g S Bl i Sede gat
B,

FTdE! Hivrd faur e sneg/a?

(1)  (a) 3T (b) (2) (b) & ()

(3) (a) A (c) (4) wOSNH wd

Comnsider the following statements.

(@)
(b)
(©)

According to the Theory of Demographic Transition in the First stage, birth and
death rates are high.

In the second stage of demographic transition popula@q increases at an annual
rate of about 2.0 percent or more. N\

*
In the third stage of demographic transition the bi(%ate declines significantly and

thus the rate of population growth remains lo

Which of the statements given above are correctg

(1) (a)and (b) ) x%and ©
(3) (a) and (c) of the above
~ X
79. wEE faum faarm = {\
(a) SIS TRJEATEAT O 1919 =1 TSI Fi.
(b) WS T ScUEH TR JUR FHHE 3R,

©)

T TN TR 2014 WA [T A

e v/t /7 H& AR/T?

(1)

(a) = (b) (2) ®H (b) (3) R () 4) (®)F()

Consider the following statements :

(@)
(b)
(©)

Livestock census started in the country in the year 1919.
India ranks first among the world’s milk producing nations.

Dairy Entre-preneurship Development scheme was launched in Sept. 2014.

Which of the statement/s given above is/are incorrect ?

(1)

() and (b) (2) only (b) (3) only () (4) (b) and (c)
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80. WHTIH! HIVK 2 FUTR W@ e 2 ?

(1) AL AIRMHE Trdi S FH.

(2) 3EIUE YT 9IG FI.

(3) HITRT Heiy FHUROL.

() S S H g s i F T v 2

Which of the following was the main objective of GATT ?

(1) To reduce competition in International Trade

(2) To attain food security

(3) To improve inter-state relations

(4) To ensure competition in international trade through@val or reduction of trade

barriers A
,;\b

\ <

81, e e frewa = @Q

(a) T IR HRATEN S ufgen $

(b) mguﬁmmmw&@q@wm.

N

() @W%ﬁﬂuﬁmgﬁ@wmmwaﬁaa@

ThetH HvRy/@ faum/A ?\%/a?

(1) = (a) ) T (c) @) @IQIFT (@) FH(b)

Consider the following statements :

(a) India ranks first in the world in milk production.

(b) National Dairy plan phase I is launched in March 2013.

(c)  Dairy sector is the important secondary source of income for rural families.

Which of the statement/s given above is/are incorrect ?

(1) only (a) (2) only (c) (3) both (a}and {c) (4) only (b)
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82, We faum faard =
(a) SfEor Id STfvrn <= dweH (THISTA) ga AR SIS T 28 SHERT 1992 7Ll

E

(b) 2007 T SEU-gd TN SR WoEAd H9EE SWIEE! AEES SHl AN
FH Fe.

(c) 2020 Hq AR FHA IR FIOAR S Bl

Fiete®! FHIoR/ @ faum/ g% smR/a?

1) @3® (2) H (a) @) (®)F() ) T ()

Consider the following statements :
(a) The ASEAN Free Trade Area was established on 28 January 1992.

(b) Since 2007, ASEAN countries have gradually lowered the import duties to member
nations. .

(¢)  The target was to reach zero import duties by 202060
Which of the statement/s given above is/are incorrece

(1) (a) and (b) (2) only (a) (3) and (c) (4) only (c)
: S
83. we fawr famw = AQ)
(a) oY fohwa wfbdi= s ﬁ AT TN 3T,
(b) HRA 87 HEMEa FHiN ST S TR .
TBUF HITR/ =R faue HB/d ?
1) (a) 0 ) I (2) " (a)
(3) wH (b) (4) TOETH Food! T

Consider the following statements :

(a) Commission for Agricultural Prices and costs replaced Agricultural prices committee.
(b) Food corporation of India replaced Agricultural Prices Commission.

Which of the above statement/s is/are correct ?

(1) both (a) and (b) (2) only a)

(3) only (b) (4) none of the above
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84. fes et M axg™ e 3Tl Fai WSSt ST aEr= SR FHEe g ?
(1) Hqo = FEe T
(2) deHE =g wER T
(3) - WHF = W T
(4) arElaeh =Y WS T
According to David Ricardo, countries should produce and export the commodities based
on which of the following principles ?
(1) Absolute Cost Advantage Principle
(2) Comparative Cost Advantage Principle
(3) Equal Cost Advantage Principle
(4) Realistic Cost Advantage Principle

85. W@ faym fa=mm =m.
(a) UK STe HRU 1988 A HAS .

(b) SI® HaH TR 1980 HEY SN F. \Q
et o Fary s sT/a &
(1) T (b) (2)

3) ()9 (b) A (4) il

Consider the following statements : (b'

(a) The National forest policy is i ﬁeﬁted since 1988.
(b) The Forest Conservation Ac&enacted in 1980.
Which of the statement/s giveé’%}ve is/are correct ?

(1)  Only (b) (2) Only (a)
(3) Both (a) and (b) & . (4) None of these
86. dEEl TLEN TSHYT U e S gEare aeal i o S e 3
AR T FrueT SAfF T ?
(1) TSk AN (2) S "
(3) T HEeHA @) FERY

“A graph reflecting the concept that pollution and other environmental degradation first
rise and then falls with increase in income per capita” was introduced by which of the
following persons ?

(1) Alfred Marshall (2) J].M. Keynes
(3) Paul Samulson (4) Kuznets
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87. HIUH ISl Wieh GHAT T A 7

(1) 1969 (2) 1972 (3) 1980 (4) 1985

The South Asian Association for Regional Cooperation (SAARC) was founded in which
year ?

(1) 1969 (2) 1972 (3) 1980 (4) 1985

88. I B WIS TR IR WIASIH] iUl T Fron g ?
(1) oM, Afem onfon ey (2)  oTRfE, FAS oM IRoey
(3) T, Ser Snfoy Al (4) R, e anfon Wifeed W
NAFTA as a regional trade agreement was signed by which of the following countries ?

(1) USA, Maxico and Netherlands (2) USA, Canada and Netherlands
(3) USA, Canada and Maxico (4) USA, UK (England) and USSR

89. AT UTF Tl YW (2000) IZ5UTH shi=il WA i@ Sd HHL.
(a) AT ERa STt Y9 ST, S Hrara SHEY Bl
(b) wWmeﬁwﬁﬁﬁmﬁﬂ%
FBURT DI/ HIV fHH/T e aﬂ%/a ?

(1) (@) B

(3) (a) 3T (b) (4 W@‘

The New Agriculture Policy (2000) is known as ow Revolution because :
(a) It includes Green revolution, White revo nd Blue revolution.

(b) Under this policy the technology for ariifiial rain was developed in India.
Which of the above reason/s is/are cor@
(b) only

(1) (a) only
(3) I;otﬁ (z:; and (b) i@) None of the above

90. W faum fa=ma =,
(@) e T S %tz
(b) o HBE SR ST TR,
liwiwT HIor/ /7 SOET AT/ ?

(1) ¥ (a) (2) T (b)

(3) 3 (@) (b) (4) Fo T

Constider the following statements :

{a) The main objective of the Regional Rural Banks (RRBs) is to provide credit and other
facilities to the small farmers.

() They are basically scheduled commercial banks.

Which of the above statement/s is/are correct ?

(1) only (a) (2) only (b)
(3) Dboth (a) and (b) (4) None of the above
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91. fifaas sdiuerAT=n e GO faaHts Fo faum gEe o ?
(1) GdEE! e A § THaEE! SeeEel .
(2) dERESTER TS AR & TRrEETE! SEEel ST
3) @aiae! o AR U 3 WU Tdre SR Afue wisae AR .
)

ARSI A IZAT S AT ATl ol HH Tl § I o= sThrem
IS FROTA 8.

Which of the following statements is not true about agricultural subsidies ?

4

(1)  Fertiliser subsidy is borne by the state governments.

(2) Power subsidy is borne by the state governments.

(3)  Ome of the objectives of fertiliser subsidy is to attract more capital to fertiliser industry.
(4) Low price of canal water, due to irrigation subsidy has led to inefficient use of surface

water.
—ON
i} N
92, wEe faun ofias wewf faawo demv defu R, 2%
(a) & I FEE TR WEHE S R IR U CRER G

(b) I AemMafaria & fid Tt o {0
(c) TREH WEEe FIard HHe qd 25,000 STES .

(d) <R TEET DHGE T THIR feat el

iR B e v a2 N

(1) @& foum Q@ (2) (a) 30 (b)

(3) (a) 3 () @ (2) Ff(Q)

Following are the ents about Targeted Public Distribution System (TPDS) :

(a) It divides entire population into BPL and APL.

(b) 1t works with dual pricing system. ,

(c) Maximum income level of families under BPL was ¥ 25,000 p.a.

(d) State governments were to decide the size of the population below poverty line.
Which of the above statements are true ?

(1) Al the statements (2) (a} and (b}

(3) (a) and (c) (4) (a)and (d)
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93. ‘‘forarm, vy anfor A4S AT AU B N2 TBUS WOIGUH] HIVE! FhHea T ?

(1) IR 59 (2) el g

(3) wWfeH visda® (4) UEF FHIR <&

Which of the following explains the stock of people equipped with education, skills, good
health ?

(1) Labour force (2) Human capital

(3) Social capital (4) Productive labour force

94. TSI IV THT Sigeer= I A ?

(1) TRfeFa wea (|E)

(2) T A S

(3) TEUSHY HUATh S e

(4) fam Fmih sreria Fod Jaaus

Which of the following is not the part of foreign capital ?

(1) Foreign Aid ’\

(2) External Commercial Borrowing 60
N\

)

(3) Investment by Multinational Corporations @

(4) Investment in Non-performing Assets Q
(0.

95. T faum faarm = ,OQ

(a) WREMY wEE fraee anfn & T Q= ST 1972 34 3.
(b) wETERY favPT= ST 1980 w

(c) faTo dad snfn guren \mmaﬁﬁammwmwm.
Fhete BwR/@ faum afm@ a2

1) @30 ’ @ ®IC

@) @3 (@) et v

Consider the followitig statements :

(a) The National Committee on Environmental planning and co-ordination was setup
in 1972 in India.

(by The Department of Environment was established in 1980.
(c) Sustainable development can be achieved only if the Environment is conserved and

improved.
Which of the statement/s given above is/are correct ?
(1) (@) and (b) @ () and (9
(3) (a)and (c) (4) All of the above
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T 2016-17 1 SIS IR W A1 et e surem fhmd waet adl.
(1) 1470 (2) 1310 (3) 1360 (4) 1410

The minimum support price approved by the government for the kharif 2016-17 season
was for common paddy.

(1) 1470 (2) 1310 (3) 1360 (4) 1410

97. W SqgA ol gefyd w19 9o UaEESt 1972 9t = T FEE
AT,
(1) 3meEr (2) THYE (3) wruEtd. (4) TAELEE.

was setup in the year 1972 to undertake the promotional work relating to the
export of marine product.

(1) APEDA (2) MPEDA (3) CACP (4) NCDC

98.

afﬁ:mwﬁq?mm 3T TR FURTA (ARDC) I1 HE=t T 1 T 1963 Hedl YEam
____ w{gEl oL )

(1) 31 qearn &9 [ES1 (2) T=Em ga?ﬁw’i;&gzaa

() <rd Teda wS [WES1 4) wd NLEEH!

Agricultural Refinance and Development Co ion (ARDC) was established on
July 1, 1963 primarily to meet

(1)  Short term credit supply (2 %edium term credit supply
(3) Long term credit supply 11 types of credit supply

99.

“J
= fwREi %bh ST 3T,
(1) S foaa |ftdt (b' (2) YRHIY UM HRHE
(3) TTHS .Q 4) =
Agricultural Price C sion was set up on the recommendation of the

(1) Foodgrains committee (2) Food corporation of India
(3) NAFED (4) APEDA

100.

T 1960 91 ST AYE HE dEEE A w91 TEn TRE wEe 700 aHs
VerHa: 1 fyerTar THEY FIOGE A,
(1) g (2) T® (3) o’ (4) =i

Introduction of new technique of agriculture became popular by name “Green Revolution”
around the world in early 1960s in which the first crop introduced was

(1) Rice (2) Wheat (3) Jowar (4) Bajara |
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101.

42 A

Yoo SIashTeat | R AR ufFe’ (SHC) &1 A= YHRY W1 Yawamren g% 8.
AT FLATS, TFRIH T HTOIT AT

(1) 19 FgaErt 2013 (2) 19 TFgARI 2014

(3) 19 FFgAR 2015 (4) 19 FFART 2016

Soil Health Card for every farmers was inagurated by Hon, P.M. at Suratgarh, Rajasthan
on

(1) 19 February 2013 (2) 19 February 2014

(3) 19 February 2015 (4) 19 February 2016
102. ofew 9 9@ fTwM AWM tEifcrs Trefawm I @E®Ea’ (ICDS) ¥+ ek
FHad o,
(1) 1965 (2) 1975
(3) 1985 (4) TSR FE AR

The “Integrated Child Development Services Programme (ICDS),” Development by
Department of women and child was implemented in the year

(1) 1965 () 1975 \Q

(3) 1985 (4) None of abgeg «
4

103.

A
T S mmmmmmw@wﬁ

(1) 15 AT 2014 - 14 AW 2015 Q(b'
(2) 1Ty 2014 - 31 T 2015 {0
(3) 1 %@ 2015 - 31 9 2016 c}o
(4) 15 TR 2015 - 14 ST 2014\
period is considered hase-I of Pradhan Mantri Jan Dhan Yojana.
(1)  15' August 2014 - 14th st 2015
(2) 15t April 2014 - 315t Xyéh'2015
(3) 15t April 2015 - 3%k\Warch 2016
(4) 15t August - 14th August 2016

104.

2016-17, HE19 sefdeea fo=m damE! TwE=n i@ dewen fde7 fd (LTIF) =vE
@ T It a1 Tl Sues Hed TRom.

(1) 10,000 (2) 20,000 (3) 30,000 (4) 40,000

The 2016-17 Union budget make a breaking announcement in the sector of

irrigation-setting up of Long Term Irrigation Fund (LTIF) in NABARD with an initial
corpus of ¥ crore.

(1) 10,000 (2) 20,000 (3 30,000 (4) 40,000
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105, Sl =S TF fFemm™ wvEe AUNHEMLE TF fetl aHE SRvarret ST
Fl B
1) 15 ferit dfcwam (2) 20 feii afcaaw
@) 25 feiii Afewag 4) =TS HIUQAE TG

“Calorie is the amount of heat needed to raise the temperature of one kﬂogram of water
through one degree at

(1) 15° (degree) celcius (2) 20° celcius

(3) 25° celcius (4) None of above
106. ¥F 2010-2011 <1 FH FTTUATHER WRAWIS Id SHHA UGN GE&A ! Bt

(1) 13835 TV@d  (2) 11326 TW@W  (3) 120.78 W@ (4) 135.38 SURW

According to 2010-2011 Agriculture census, the total number of operational holdings
was

(1) 13835 million (2) 113.26 million (3) 120.78 million (4) 135.38 million

TS
107, TERIE T FR T He@ TR0 e s maw@‘,w.@.ﬁ. e Saden

(1) 60% (2) 90% (3 4 (4) 50%

Under the pledge loan scheme of MSAMB rs keep his produce in the APMC
godown and gets per cent of Ll}b e of loan.

(1) 60% (2) 90% \Q (3) 75% (4) 50%

108. WRA W&ERA Tfod weafes ﬁm\*@n (Revamped PDS), € deF1 1 STHERI 1992 73
WIS ILTIH W97 He.

(1) Taseen famde Qﬁwuﬁqﬁmmmﬁmmwm
) TETEEde A 3L (3T H0

(3) T TRIYH 3= 4= QR3] ST

@) =St FE AR

Revamped Public Distribution System was launched by Government of India on
1%t January 1992 with objective

(1) To ensure minimum availability of food grains per adult per month in the identified
area

(2} To provide minimum availability of food grains to the people below poverty line
(3) To provide required quantity of food grains to the people below poverty line
(4) None of the above
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109. 3fihcate 3T WHEE BT Wead R SRoTe JYiiid (APEDA) 91 €< W@ Fried
= R R,
1) e feedh 2) =2 3) = (4) wTgE

The Head Office of the “Agricultural and Processed Food Products Export Development
Authority (APEDA)” is located at

(1) New Delhi (2) Mumbai (3) Chennai (4) Bangaluru
110. ¥R FH ATHYE IRESH (ICAR) SRAwIdAE Gy 9 difF guroma Aedrt i

A A TS AU SR 92 918 1 1951-2014 =41 HioaHHeE

S .

(1) 5 2) 7.8 (3) 9.5 (4) 12

ICAR has played a pioneering role in Green revolution through its research and technology

development enable the country to increase of food grain by __________ since

1951 to 2014.

1 5 (2) 7.8 (3) 9.5 4 12

111, T faur faemm =
(a) AT AT O S 1L A qgeEde aem ma\@ﬂﬁm T 2000 .. Ya
ST 3. .
(b) WWW%W—WW@&%@W,MOOO@WW

afcetat Fao faum,/faur dma s ? Jox

(1) & (a) W)V (b)

(3) T ()7 (b) % FEOH T

Consider the following statemen;%@

(a) Agni Il is a surface tc sur intermediate range missile that can carry nuclear

weapons and has a ran re than 2000 km.

(b) The missile reentry v is made with carbon-carbon composites, to withstand
high temperatures gijpte 8000 degree Celsius

Which of the above st ents is/are correct ?

(1) Only (a) (2) Only (b)

(3) Both (a) an (4) Neither (a) nor (b)

112. YR 2014 § 2017 9% GSAT-14, GSAT-9, GSAT-6, INSAT-3DR 3WI® d7aTeal GSLV §R
TR FSS IR, R % 05 B 2017 Tt wfaw wae e@wm g Ay vafia
F0R S 2.

(1) GSAT-6 (2) GSAT-9 (3) GSAT-14 (4) INSAT-3DR
India has launched GSAT-14, GSAT-9, GSAT-6, INSAT-3DR by different GSLV from 2014
to 2017. Out of these, was launched on 05 May 2017 from Satish Dhawan
space centre.

(1) GSAT-6 (2) GSAT-9 (3) GSAT-14 (4) INSAT-3DR
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113, S SAEMY Hhelo UgH WSva Ja1d 9l F (K| 81 HeeifoRhyA Thaet B,
Iy 0O 2 =>1 3) 1 4) <1
When control rods are inserted into the reactor, [K] (multiplication factor) becomes.
(1) 0o (2) >1 3 1 (4 <1

114, ‘onfve feamen’ & € T e

(1) SuveErd! enfvas $eTE STuceer

(2) e I YaARTHes 37w, faer | o ferom=n swHe

(3) TGN A Nfras e TaieRve 5o dTHHE S B
(4) A = AT U= GHAT v

The term “Nuclear Winter” refers to .

(1) Unavailability of nuclear fuel for nuclear reactors

(2)  Accumulation of a, 8 and v-rays near the north pole of the earth
(3) Drop in temperature as an envirorunental effect due to jor nuclear war

N
"
115. Fore Tl TRRR GE1 FHI0d €A ST S%W@'cﬁ

(4) Itis a synonymous of ‘nuclear waste’

(1) ¥ T Fet S S <= 2.
(2) IR S I WA HE g F G
(3) T ET=A <l FléE! Fh TS0 FED

(4) ot S o et S ST QA e

Energy Conversion from one fo another transforms
(1) Low-quality energy re o@a to high-quality energy resource
(2) High-quality ener
(3) Quality of the e
(4) Sometimes q

* .
urce to low-quality energy resource

resource remains unaffected

of enerpy resource improves and sometimes degrades
BY P

116, I=&HIG Af0a®H HIU (Nuclear waste) T Goiov! T THEHs TR 4l :

(1) wEre (2) =&

(3) STE (9) onftes $R TEES
High level nuclear waste is generated from one of the following :
(1} Laboratory (2) Industry

(3) Reactor (4) Nuclear Fuel Cycle
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117, @ faum faerm on
(a) RS §feE, ST F i ATHARR S9EY FTFISH @ Za€Y TS AU S,

(b) T TAIH € TBMTRN IR Sl FHFTE AW FEEY [Geosynchronus transfer

~ orbit] ¥AY FIOGH ITE 3.
THoIH! Foo faum/ faum g sma?
(1) e () (2) K (b)
(3) TR (@)F Db) (4) S T

Consider the following statements :
(a) Cryogenic Engines use liquid oxygen and liquid hyd&@ at very low temperatures.

. *
(b) This technology is needed to put heavier comm@g%on satellites in a geosynchronus

transfer orbit. Q

Which of the above statements is are wro:;@

(1) Only (a ) ony

(3) Both (a) and (b) \\ (4) Neither (a) nor (b)

Q"Zf

118. 38 (ISRO) ¥ WY AYA THH Tohe GR verqoran favafass wgar
2017 9% '

1) 101 3R ) 102 I (3) 103 3T (4) 104 IR

ISRO launched on a single rocket from Srihrikota, Andhra Pradesh and made
a World record in February 2017.

(1) 101 satellites (2) 102 satellites (3) 103 satellites  (4) 104 satellites
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119. TFHIY WETH Huld @oedes! S fauam @y la?

(a) Sfadiammral yetsiaare: frtraran sirifes wfaa semd @ 24 T s |
(b) YL TEARYUT WA AR TSRt e aHEn A 11.2 HLE /g fha

TATYET SR STETET BT,

() HTBURER UREvardS! Hade I ¢ 11.8 L. /QehE 71 A 7 gesiten ganiad e
e dren o

(d) YIF TSR DRSS! Siaie O B 11.8 WL HY. /A 41 9T o Yeait=a gatdad fomoars
foeg fai diem @

L it

(1) 5 (a) @) % (d)

(3) () 3 (c) (4) TR BORA TR

As far as space science in concerned, which of the following sentences are not true ?
(a) The geo-synchronous period of a spacecraft around ﬂ& arth is 24 hrs.

(b) The velocity of a spacecraft to escape the mﬂueng{@earth s gravity must be more
than or equals to 11.2 km/s

() To reach Mars, a spacecraft must be launchiﬁllﬂ km/s in the same direction the
earth moves around the sun.

(d) To reach Venus, a spacecraft must be ed at 11.8 km/s in a direction opposite
to the direction the earth moves d the sun.
Answer options : .\b
M

(3) (b) and (c) {4) None

(1) Only (a) ) o%&)
Na\

120. @SS BV TH Y ) forgea Wi’ geitad ?

(1) PBUg+'ny - 56+ 2Krsg + 3 Ing

(2) 35Ug,+1ng Bagg + 92Kr,, + 3 Ing

(3) B8Ug+1ny — 4lBag+9%Kry, + 6 Ing

(4) POUg, +1ng — ¥Bag, +9%Kry, + 5 Ing

Which one of the followings describes the proper nuclear fission reaction ?
(1) 28Uy +'ng — 4Bag, +9Kr,, + 3 In,

(2) B°Ug,+1ny — B¥1Bag, +92Kry, + 3 In,

() 28Uy +ng — M1Bag, + 9K, + 6 In,

4) Z5Ug,+1ng — 1P%Bag, + PKry, + 5 Ing
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121. 27U @ faEe A de TR IS (oAl SqHETeA] 0.1 Rh Sl Soateid 8 T

1 fRa. 55U = fade dvam fadt S scafila @2
1) 9x10M] (2) 9x101] (3) 9x1012] (4) 9x10M]

When 2S§U undergoes fission, about 0.1 percent of the original mass is released as energy.

How much cnergy is released when 1 kg of 2ggU undergoes fission ?
(1) 9x101] (2) 9x10137] (3) 9x1012] (4) 9x10M]

122, 'SHUETE. -9 91 ITRTEAT HeEvid Woieth! HIvd fTUH 3R/ R ?

(1) ¥ ST T ‘590’ A 2017 AL F.

(2) o SuEre gfeqor onifyran Swe’ STHE .

(3) ¥ U Jeien HE fEO, S3veest 3 TaEH fauas Hifed! SUT 39UE IR
(4) IR HEa "ot S anfrErst <9 a1 YehedTe HRE oTRA.

Which one of the following statements is incorrect about G% 9 satellite ?
(1) It was launched in 2017 by ISRO A
> 9

It is also called as “South Asia Satellite”. x

(2)

(3) Ttis a geosynchronous communication and m ogy satellite

(4) All South Asian countries including Pakistqb the members of the project
P

123. T foadts sSSP 7l YoNE ®iat WHIw TS Taais! HF WU 7
(1) fowidam EEIENEl
(3) DR A ‘\\1:(4) H
The process that converts solid C@ﬂto liquid hydrocarbon fuel is called :
(1) Liquifaction Q (2) Carbonation
(3) Catalytic conversiong\ « 4) Cracking
N

124, GESUH Hiv IR TG TEY 3 7
(1) SEERgEHE, 9, 3itfooren, emfoas
(2) SAAREA, O, FEa Shfo, sofad
(3) SEEEH, 9 i, anfras, SofRm
(4) oW, anfraes, Sofagy, TEE it

Which of the following are the indirect form of solar energy ?
(1) Biomass, Wind, Ocean thermal, Nuclear

(2) Biomass, Wind, Ocean thermal, Hydel

(3) Biomass, Ocean thermal, Nuclear, Hydel

(4) Wind, Nuclear, Hydel, Ocean thermal
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125. T 9 T SEA Alfvas F=vig YRa 11 @ 13 | 1998 A& e St=
TR FS 8.
(1) 4 (2) =X (3) U= (4) &

Pokhran 1l was the second Indian Nuclear test conducted the explosions of series of
nuclear bomb between 11 - 13 May 1998.

(1) Three (2) Four (3) Five (4) Six

126. TS THEE frefauamsdar snftln gt e wEia FoarEial §6d Woes! Sl T

AT E Wehelld ?

1) vFERRe IS (e agq) (2) ¥ 9gd

(3) Th-wm s (4) whotH w

Which of the following means hacker may use to know your password to break into your

system ?

(1) Dictionary words (2) Brute - Force method

(3) Key - Logger attacks (4) All of the a;b.mgo
127. ERP 99 |yl 719 310 318 @\‘O

(1) TFge 9+ Wnm (2) {rard <Hn

(3) T {HM WEw (4) RS ACIER|

Full form of ERP is : @'

(1) Extended Research Program % Enterprise Resource Planning
(3) Employee Resource Process {\ (4) Enterprise Research Flanning
O\

"
128. WW@W@WHWWWWWW%?
(1) =R - s, ffe - oRe
(2) HW-# HifeF - OlFRFS
(3) HN - PFEgFS, TR JAfeh - S
(4) TN - TEE, PO AT - Ofgo

Which of the following pair describing transmission medium and signal used in Computer
Networking is correct ?

(1) Copper - electrical, fibre optic - light
(2) Copper - magnetic, fibre optic - electrical
(3) Copper - electrical, fibre optic - magnetic
(4) Copper - light, fibre optic - electrical
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129. GIHBUH FIE WEHE favarien (Tomas) Ja] (FgfThe) qe ?

(1) 2. (2) T,
(@) I (4) aEiH Td
Which of the following protocol provides reliable communication ?
(1) TCP (2) ARP
(3) UDP {(4) All of the above
130. 'T&H’ (Saksham) AFERT VeIq<l SHTEIGT YU YRAG HaqeH 1 T
RCECIRIEA
(1) = WRw (2) oY gew
(3) TW YW (4) aletew T
‘Saksham’ online scholarship management system is implemented in state
for the first time.
(1) Madhya Pradesh (2) Andhra Pradesh
(3) Uttar Pradesh {4) None of these
=
131. YRAE BHEfEs S T35 St wod a5 9 %231 @,
(1) THRHE (2) BRIl
(3) T drewE ARIHERE ) W
The newly implemented goods and servi would affect the Indian
Pharmaceutical Industry. 6?
(1) Negatively %‘? NOT
(3) Hardly ) Positively
N
132. ‘ﬁaﬁa-mﬁ'wmaf@amﬁw, YR TR Tl @R AR, TWHe
fram' & w= m’@wﬁ Haifid o7,
(1) FHt TR BECE)
@ F FeIA YA eah
@) wUE HEdwE SFAfoHd ook

(4) oM HiEEx g sHfedta Teas
The ministry of Science and Technology, Govt of India has been in a fore - front of an
initiative called as Biotech-KISAN. The word ‘KISAN’ in this program stands for

(1) Krishi Innovation Science Application Network
(2) Kisan Invention Seed Association Network

(3) Kapas Improvisation Scientific Analysis Network
{4) Kalam Initiative Seed Analysis Network
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133. (I) WYl g0t T sireent (I1) Wi = 4 Wadehshieh! e el
1y (I
(a) TN dfeen e () FeefE dert

(b) —HSA HEES M3 (i) Frepifeamr faum 10

() = ATt Sehd (i) FTIHIRHT

(d) I =g val (iv) Sloretay girhfaaw
it 39

(@ ® ((© @
(1) @) @) @Gv) (@
(2) @@ G@v) @ ()
3) (v) © (@) (@)
4 O Gv) @) (D
Match the plant disease (I) with their causative agent (II) :

) (1) .

(a) Early blight of potato (i) Alternaria Solani \Q
(b) Crown gall of plum (i) Nicotana v1rus

{c) Leaf curl of tomato (iii) Mycoplasma

(d) Bunchy top of papaya (iv) Agrobacter@ mefac1ens
Answer options :
@ 6 © @ ’OQ
1) @ @ O QN
@ @) @) O @ \lf)
3) (v) @ @) @) .&\
4 @ iv) (i) (i
® 0 ® o @

134. ("= FiFA dEqTAEE! ) G T9EE HYl IEE P,
1) 35-37C 28 - 30°C (3) 40 - 45°C (4) 37-40°C
The inside temper. of the artificial Vagina (used in artificial insemination) of cows
should be ideally between

(1) 35-37°C (2) 28 -30°C . (3) 40 -45°C (4) 37 -40°C
135, GHGAH! & S 9T THa SRvarE! g .
(1)  ATRIZ=SRE (2) TERNMEA

(3) O wEEm e wmu ww  (4) I wifere
One of the following is not a method for direct gene transfer :
(1) Microinjection (2) Electroporation
(3) Laser mediated DNA uptake (4) Tiplasmid
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136. FA.HL.TIR 7 fawdln oo AiH-2 7N dHg 99 | g 3 T
3. |
(1) =EEh 3 e (2) ST @ oA |
(3) AU 9 IS 4) EF 3 ddR
Opaque-2 maize composite varieties developed by ICAR are rich in and
(1) Lysine and tryptophan (2)  Alanine and Glycine
(3) Tyrosine and Aspargine (4) Serine and Cystine

137. Gio@ts! HoR/ faum/A arg o ?
(a) st faumy=r yoR ge-Hifgs A ywHEe gl
(b) g fehan STIER &= WER €% Wehd TR
(c) TB-TIEHIEIEN FA-HTR TEIfd % vhal
(d) sfufeey P ANR & FHTS &
it S ‘\Q
(1) (b) T (d) (2) (a) ST () (3) ‘F@‘ (4) K ()

Which of the following statement/s is/are true ?

(a) Polio viruses are spread predominantly b fecal-oral route

(b) Tuberculosis cannot be transmitted by r food

(¢) Kala-azar could be contracted via bi and fly

(d) Athlete’s foot is a disease caused orms

Answer options : .

(1) (b)and () 2) a\&h (3) only (d) (4) only (c)
, >
138. AT AT STy ey bt e fatferon SN HfsTerEn ¥ T

oo e, ’

(1) 4@ Hreom () 7 "YW

(3) W= (4) T i

A seedless variety of watermelon developed by Indian Institute of Horticultural research
has been named as

(1) Shweta Seedless (2) Arka Madhura

(3) Rasaraj (4) Goma Keerthi
139, 9RaMT g 2G 3T @ie a9 fom ow.
(1) ®AH (2) TN (3) IWES (4) e

India’s first 2G Ethanol plant was set in . -
(1) Karnataka (2) Maharashtra  (3) Uttarakhand (4) Hyderabad
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140. THSYEH! HivEl/d TUfERY € We ©F i1 o] 98drd ?

(@) o THET FESS FAE.

(b) o TUHE Al AT e WGTARNF TG TeH 2T .

(c) We A I e gof ST FoT FAHEE R THIOMA THA.

d) e v U e i gH FT NH TR

T I

(1) (a) 37 (c) (2)  (b) snfor (d) (3) K (a) (4) () 3T (o)
Which of the following property/ies could be attributed adult stem cells ?

(a) These are sourced from Embryo’s

(b) These can be taken from patient to avoid immune rejection problem

(¢) Adult stem cells are not numerous in mature tissues

(d) Adult stem cells cannot repair tissue cells
Answer options :

(1) (@) and (c) (2) (b)and (d) (3) only (a‘)\(\ (4) (b) and (c)

——
141. TATHH DR AfaF FF AHE a0 G ? {3
(1) gt (2) sffrarasten
(3) oFiay faeardrsa (4) CiEsein|
Which of the following is not an exam gal biopesticide ?
(1) Trichoderma Metarhizium anisoplia
'\&(4) Beauveria bassiana

142.

(3) Agaricus silvaticus ﬁ\

are one Of the type of bacteria that are used in the process of cheese making,.
(1)  Saccharomyces sps (2) Camylobacter sps
(3)  Streptococcus sps (4) Aspergillus sps

143.

T TS ST IS FRUIE ST Wi TR

(1) i ) sfafed (3) feXfe (4) SEEERA
is a Growth Regulator producing apical dominance in plant.
(1) Auxin (2) Ethylene (3) Gibberellin (4) Cytokinin
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144, ¥ FOTE Tl HadETet 91O VI TeETRT W TR
(1) 37T ArEd 2 dddfTau
(3) TEHETETE. (4) TATE. TR
is the commonly used medium for plant tissue culture.
(1) Eagle’s medium (2) DPBSA
(3) HBSS (4) MS medium
145. =&, 99, Afeolt 3. 0 wRdg FTE SR A0 SRA.
(1) "=E (2) S0 (3) STETAT (4) AT
Cauvery, Sona, Rohini etc. are some of the outstanding Indian varieties.
(1) Wheat (2) Bajra (3) Rice (4) Maize

146. 1986 U@ THTsI® VG Fehed RS ATIHT, BIA ST IR T T ?

(1) I B2 Q) HIREH 6§
3) TR (@ s S\
géxce in which of the fo]l_owing state

Chernobyl Atomic Power Plant disaster in 1986 tGQ

of Russia ?
(1) Ukraine State yb‘ bekistan

(2
(3) Estonia \@p

Georgia
147, TEORE o faurd A e O
(a) TORE THte &= JFHY 2002 A= F@,
() afis smasen <t | e A O S SUNHT B
it 3uy :
(1) 92 (a) (2) oS (b)
(3) [ () F (b) (4) THEETEH

Which of the following statements are correct ?

(a) Bhuj Earthquake of Gujrat accured in 26 january 2002.

(b) To reduce the intensity and destructive effect means mitigation.
Answer options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither
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148, WHBYH! FHIOT Te1 Ue=w yRdld afife S| FRuiyd ek 2

(a) T - SR (b) Her - ATt

(€) WM - TeEd (d) wErt - A

i I

(1) (a) 3T (b) 2) wH(b)

@) (o) 3 (a) (4) = (d)

Which of the following rivers are causing disasters in Western India ?
(a) Ganga and Brahamapuftra (b) Narmada and Tapi
() Mahanadi and Godavari (d) Mahanadi and Tapi
Answer options :

(1) (a)and (b) (2) only (b)

(3) (o) and (d) (4) only (d)

149, WA Fo Fefier AT WAl o vt o TRQR?

(a) Y M TS Pt (b) T e @

() TS HH F TRET g (d) W <

T I (09

(1) FH () @) (a) 301 (b)

6) wH @) YW |

Which of the following disaster cau imum damage in shortest time ? _

{a) Earthquake and Landslides (DS (b) Earthquake and floods
() Landslides and hailstoer (d) Floods

Answer options :
(1) Only (a) (2)  Only (a) and (b)
(3) Only (d) (4) All the above

150. WEetH! o gy yeu favgs wala S Sl o ?

L O () & @) &) @ W)

Which of the following zone is seismically most active zone ?

(1) Zone (I} (2) Zone (I} (3) Zone (V) (4) Zone (IV)
-00o0-
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Il — (9= 1 9% 9e....)

@) Tgfaeny fafeg Foom faftee arfle = +@ (IE %) w00, Tegfasafaia SoafFeat |
TR FAEER F= FM Fedd o FO FOAE I FO G, 70 AFS TS 9 AR IHERT
G R ol ' TeHed S TRyeRi wRey StaEEas SAfufem-82 " anie TEEiTar SRAE
FOUE FEo F L6l A FHO TF AU R S/ T T §9R W sersn e
RIE R

(9) e yylrERaEl smaH fafe FOH 9% Yo U@ € TYREE e ae TaTwaeR
UIT TG TEE MR, W UHAT SIS SrUargel IHEET AT9eET IR Wi 1

TRNFFS 7 Frawr wa w0y ayas IR
AT W9

T FHIE 201, S GG I HOGEdr FION Tod: T 0 2
(1) @ TEEe wEal @ IvEEq
@) TS THAERT T (4)
A A A (3) T e U9 o T T IR () e aEa
THGIAT0T T3 F. ZOIWW—W“@Q QUi BRI FHE @l AEITH
.

L EONON MO (OQ
3T UE W < WWW'@WW@W
IR o = 7 Tafya aqe uivh sHifed F&1 @Il PRt
W HIGAT YA Wi , Ao o wd e O aaw 4.
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